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Risolvi le seguenti equivalenze.

1339 mMme = ... dm3
259500 dam?® = .......ccccueueee km3
0,0003373dm?3 = ................... mm3
3462 dm3 = ......ccceeeee dam3
44620 cm3 = ..., m3
0,2984m3 = ... cm?
3,397 km3 = .................. dam3
4,628 km3 = ......ccccvennee, dam?
2722 M3 = ..o, hm3
0,02826 hm3 = ................... m3
0,1037 hmd = ........cecue.e. m3
0,4675dm® = ......ccccvvnen mm3
2908 hm3 = ... m3
3173dm3 = ... dam3
1451000 mMm2 = .......ccceeeeee dm3
4279000 Cm® = ... m3
1504000 dam® = .......cccccueee. km3
331200 M3 = ...ccocveeeee, hm3
285, 7CM3 = ..o, m3
0,01493dm3 = ......ccceeuee mm3
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0,2674 M3 = ..o cm?3

380500 dam® = .......cceeuee. km3
0,3136 kmd = .......ceeuee dam3
18190 mmB = .....ccceeieen dm3
1516 Mmmd = . dm3
0,2511 kme = ..o dam?
1,454 Km3 = ..o dam3
0,001038 m3 = .......cccuenueen cmB
0,01365dms3 = .....ccceccvenee mm3
348800 mm® = .........cceeeiee dms3
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Soluzioni

1339 mm3 = 0,001339 dm?

259500 dam?® = 0,2595 km?3

0,0003373 dm3 = 337,3 mm?

3462 dm® = 0,003462 dam?
44620 cm3 = 0,04462 m3
0,2984 m# = 298400 cm3
3,397 km? = 3397000 dam?
4,628 km? = 4628000 dam?
2722 m3 = 0,002722 hm?
0,02826 hm3 = 28260 m3
0,1037 hm3 = 103700 m?
0,4675 dm3 = 467500 mm3
2,908 hm3? = 2908000 m?
3173 dm® = 0,003173 dam?
1451000 mm?® = 1,451 dm?
4279000 cm?® = 4,279 m3
1504000 dam?® = 1,504 km?
331200 m?® = 0,3312 hm?3
285,7 cmd = 0,0002857 m?3
0,01493 dm? = 14930 mm3

0,2674 m3® = 267400 cm3
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380500 dam® = 0,3805 km?3
0,3136 kmé = 313600 dam?
18190 mm?3 = 0,01819 dm?3
151,6 mm3 = 0,0001516 dm?
0,2511 km3 = 251100 dam?
1,454 km3 = 1454000 dam?
0,001038 m® = 1038 cm3
0,01365 dm?® = 13650 mm?

348800 mm? = 0,3488 dm3
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